BT T 3 AR R U #HFHK

i il TR 29% 38 1BH#
Hh g e 5B x| 85t Hhigk HEK 5 x| &t
LtEF—TH 767| 777|795\ 1,572| [+EB=TH 1,291| 1,607 1,601[ 3,208
tEFZ-TH 790| 891| 887\ 1,778| |[hEmTH 770] 823 939| 1,762
TE—TH 1,754] 1,522 1,800] 3,322| |+EHETH 963| 1,115] 1,139 2,254
TEIZTH 1,500 1,440| 1,556| 2,996| |FEATH 840| 817| 829| 1,646
PEF—TH 783] 939 976 1,915| [BsE—TH 1,140[ 1,167] 1,249 2, 416
hEF-TH 508] 586] 601| 1,187| |BE=—TH 757) 652  824| 1,476
PEF=TH 625 811| 842 1,653| [BpE=TH 403 456 478| 934
HEFMETH 750]  777|  892| 1,669| |EpiEMNTH 517| 621  644| 1,265
HEFRTH 977 1,114| 1,196] 2,310| [BHERTH 1,020  959| 1,076] 2,035
TEF—TH 810  976| 1,026| 2,002| [#L—TH 1,878] 1,624| 1,798 3,422
TEF=-TH 290| 376| 378| 754| [MIL=TH 1,445| 1,289] 1,305| 2,594
TEEF=TH 138] 143 133| 276| |#ML=TH 865| 789 899| 1,688
TEFWTH 233| 292|305 597 [ME—TH 1,753] 1,721] 2,095[ 3,816
TEFRTH 243| 309| 331| 640| [ME=TH 1,600[ 1,601] 1,877] 3,478
TE—TH 976] 922| 853| 1,775 [ME=TH 1,494 1,631] 1,697| 3,328
FTE-TH 505| 673|682 1,355 [IEE—TH 37 32 32 64
TE=TH 185  251| 245| 496| |#8E=TH 516] 444| 513] 957
EAE—TH 441 555| 562| 1,117| [BE=TH 1,134] 1,131] 1,215| 2, 346
BAE=TH [ 1,407) 1,158] 1,272 2,430| [BE#m&st |34, 693(35,950|38, 535(74, 485
EAE=TH 226| 344| 348| 692
BAEMETH 25 40 32 72
EAERTH 573| 512[ 509| 1,021
EBAEARTH 225| 332| 325 657
hE—TH 849 926 955/ 1,881
hE=-TH 690 805 824| 1,629 #&5t  [34,693]35, 950(38, 535|74, 485




